Y9 Maths

Block 1 Number

BIDMAS

BIDMAS is the agreed order of operations
Brackets

Indices (powers)

Division ﬂ AS
Multiplication

Addition Y
Subtraction ( )X i
eg.

(3+2)*x2+2+4-1=
B(3+2)2x2+2 +4 -1=
| 52 x2+2 +4 -1=
D 25 x2+2 +4 -1=
M25x 1 +4-1=
A 25 +4-1=
S 29 -1
Answer: 28

Multiplying by 0.1 is the same as dividing by 10
Multiplying by 0.01 is the same as dividing by 100

Ordering Decimals

1)

Set up a table with a decimal point in
the same place for each number

2) Putin the numbers

3) Fillin empty squares with zeroes

4) Compare using first column on left

5) If the digits are equal, move to the next
column (you are comparing the place
value)

e.g. put 1.506, 1.56 and 0.8 in ascending

order

Decimal
Tenths |Hundredths Thousandths

1 = 5 0 6

1 5 6 | 0 |

o | . [ 8 [ o [ o |
=0.8, 1.506, 1.56

Negative integers Positive integers

numbers less than zero,  numbers greater than zero,
excluding fractions,

excluding fractions.

No fractions or decimal fractions.

Equality & Inequality

< less than or equal to
2 greater than or equal to
# not equal to

< less than

> greater than

= equal to
6<x>9

X is greater than 6 but less than 9

ROUNDING

Underline the digit
~ look next door.

Ifit's 5 or greater
add one more.
Ifit’s less than 5
leave it for sure.
Everything after
is a zero, not more.

Place Value

Always write numbers in lined up columns
to keep their place values in line.
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Rounding Decimal Places
Rounding to decimal places is exactly like rounding whole numbers
- you just have more numbers (and therefore greater accuracy).

3.248 rounded to 1d.p.
3248 3.2\1*8 32

EEL)
[3 s the units digit. |

2 isworth 2 tenths, and is the 1% dp Look af the next digit
first decimal place. 3.2 4 stays down - stay at 3.2,
—
T
4isworth 4 hundredths, and is 3248 rounded to 2 dp.
the second decimal place.
]
v S it o ||| 3248 3248 —3.25
the third decimal place. t i
2 dp Look at the next digit,

You will sometimes see "decimal 3.24

8 rounds up - go to 3.25

Calculating with Negative

Numbers

Adding and subtracting negative numbers:

e.g.
+ - + ok 10 +-3=7
i }' __}"' 10 --9=19
+ 9 +-3=-12
-7 --3=-4
Multiplying and dividing negative numbers:
- e.g.

o it 7 x-4=-28
"xF| (%=1l -6 x-4-2
++=| |[*+¥| |-35+ 5=-7
- -t -40 + -8=5

place” shortened to “d.p."

Significant Figures

e.g. round 3268 to 1 sf

the first significant figure is a 3, which
represents 300, so we need to round to
the nearest thousand

?268 3%68—» 3000

1 sf Look at the next digit.
3000 2 is less than 5 - stay at 3000

' Rounding to nearest 10 etc. 3) becide f it steys or rounds up.

Rounding to decimal places:

1) Identify the tens digit.

e

Use the units digit to decide.
*5 or more rounds up®, s0 6
will round up to the next 10.

3248 3.2&8 +32

2) Work out the next ten up.

326 — 330

32 s ewen 320 =330

1# dp
3.2

Look at the next digit
4 stays down - stay at 3.2.




